P EAKETEFRFEH

ST EE

PG EASEEStEE
BIPRERETEARE (B 2023F481H F 2023F9H830H) (@#:&Fm)
HESA
GAFIRE
arxg | Zolt | BFFIRE
BAERE | grmme | st
| B B 5% = 45,743 38,351 2 38,353
L R B ZE B @
@l 52 = O & 4
B f R
B0 T 5 1 1 = O BLAR
32 &I e O M
ERE
EREEE R ) 2 2
B 2 % X% ©O B # 21,018 21,018
NEERED 5 BAEREADRE 1,012 1,012
RIBALOBEDSOEREEE (05
L b YT EES — — A2 A2
H b B H X BB = 45,743 38,351 — 38,351
BHESA
FIRFIRS
ZOfFIERIRE MEEA
1|25 S = *'Jﬁﬁg%ﬁ Bt ﬁ?f
AR THEER ppamne A4S ot
E| HA =) 5% = 10,087 362 123,560 10,560 144,570 A951 227,716
L 0 M HZE ® @
o oK £ O B A N1,676 AN1,676 N1,676
t Eil i ol o 6,328 6,328 6,328
7 8 7 1T 48 18 12 = O B AR A3 3 — —
Al &R B ILE OB I 7,000 A7,000 — —
B2 &% X © W & 2911 2911
EEE R 55 58
B C &% &t O 4 A 1,018 —
NEERED 5BAEREADRE AT012] A1,012 —
RIBALOBEDSORAEEE (05
I I i — A3 7,000 N3,357 3,638 161 3,797
U b B H X BB = 10,087 358| 130,560 7,203 148,209 A789 | 231,514
S - IREEES
ZOMEMEES | EEA Y S | BT | ST - e | FIRTIIE WEESE
FEEES F=Ted =ES | EEsest
E| B =] 5% = 5,817 A152 8,286 13,951 38 241,706
L R B ZE B @
# oK & O B H AN1,676
IS T 6,328
BN T M L= O ELAR —
A2 EISE OB —
ERE ~A911
ERE R ) 58
EHEE - —
NEERED 5BAEREADIRE —
BEEALMDEENSPEHAZEE (12 22,540 2,625 — 84 230 54
S bR H T E S E AN2,540 2,625 — 84 230 3,852
H b B H X BB 5 3,277 2,472 8,286 14,035 8 245,558

36

L
=E
o

¥




P EAKRETEFRFEH

ST EE

MOPRIASHRY (B 202444818 E 202424£98308) s 55M)
HEEA
EFRRS
=5 ZOft | EXRRE
BFERE mxpiee At
| =12 =) 5% = 45,743 38,351 == 38,351
Y% b B Z B %@
5l &2 = O & 4
L
R B E FE 8 18 12 2 00 B A
Bl 2 B Us OB I
& B 2 % % 0 B &
5 B #%®X oM H 0 0
18 B o &% % O 8 — —
e e b EATREADES — —
FEEALBIOER0SIEEETE ()
L h T EES St — — 0 0
H b B B K B S 45,743 38,351 0 38,351
MEEs
FIHRRS
ZOMFIERISS HEEA
MRS FoEER o | R R R
Bre VSHUE  Tgeo =8
= =12 =) 5% = 10,087 354 130,560 9,969 150,971 A793 234,273
L% b B Z B %@
= K £ O B B A1,822 A1,822 A1,822
=n) Eif g F i 7,193 7,193 7,193
R B E T e 7 1L % O) B ~3 3 — -
Bl 2 B US OB U 6000  £~6.000 — -
EIER N A3 A3
EEE N 6 7
B 2 % % O A8 # — —
FBERSH SAFERENDRE — — —
HEEAL S OEB0SEEETE ()
S HZE & 88 S 5t — A3 6,000 2625 5,371 3 5,374
H b B B KR B S 10,087 350 136,560 9,344 156,342 2790 239,647
5T - IREELES
ZOMEMEES | EA Y Y | THEHE | ST - e | ARTRIE  WBESS
FEzEs | iEa =ms  =Esast
=l B =) 5% = 13,020 1,765 8,286 23,072 8 257,354
% b B Z B &
5l & = 0O & 4 ~1.822
L 7193
R B 2 FE 8 18 12 2 00 B A —
Bl 2 B Us ORI —
EIER. N A3
ERER RN 7
B o &% % O 8 —
FBERSH AR EADRE —
BIEALANBENSNEHZEE ({E) AN4,923 640 = ANA4,283 = AN4,283
P LT HESE N4.923 640 — AN4,283 — 1,091
H b B B KR B S 8,096 2,406 8,286 18,789 8 258,445

37



